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Equações de Maxwell 

Radiação eletromagnética 



Equações de Maxwell 

⃗∇ × ⃗E = −
∂ ⃗B
∂t

⃗∇ ⋅ ⃗D =
ρ
ϵ0

⃗∇ ⋅ ⃗B = 0

⃗D = κ ⃗E

⃗B = μ ⃗H

⃗∇ × ⃗H = ⃗j + ϵ0
∂ ⃗D
∂t



Equações de Maxwell 
Espaço livre

⃗∇ × ⃗E = −
∂ ⃗B
∂t

⃗∇ ⋅ ⃗E = 0

⃗∇ ⋅ ⃗B = 0

⃗∇ × ⃗B = μ0ϵ0
∂ ⃗E
∂t



Equações de Maxwell 
Espaço livre

∇2 ⃗B = μ0ϵ0
∂2 ⃗B
∂t2

∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2



Equações de Maxwell 
Espaço livre

∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2



Equações de Maxwell 
Espaço livre

∇2F =
1
v2

∂2F
∂t2

(F = Ex, Ey, Ez)

∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2



Equações de Maxwell 
Espaço livre

∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

∇2F =
1
v2

∂2F
∂t2

F( ⃗r, t) = f( ̂k ⋅ ⃗r − vt)

D’Alembert



Equações de Maxwell 
Espaço livre

∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

∇2F =
1
v2

∂2F
∂t2

F( ⃗r, t) = f( ̂k ⋅ ⃗r − vt)

v =
1
μ0ϵ0

= 2.998 × 108m/s



Equações de Maxwell 
Espaço livre

∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

∇2F =
1
v2

∂2F
∂t2

F( ⃗r, t) = f( ̂k ⋅ ⃗r − vt)

v =
1
μ0ϵ0

= 2.998 × 108m/s ≡ c



Equações de Maxwell 
Espaço livre

∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = Ez( ̂k ⋅ ⃗r − vt)



Equações de Maxwell 
Espaço livre

∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez( ⃗r, t) = f( ̂k ⋅ ⃗r − vt)

̂k = kx ̂x + ky ̂y + kz ̂z (k2
x + k2

y + k2
z = 1)



∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = f( ̂k ⋅ ⃗r − vt)



∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = f( ̂k ⋅ ⃗r − vt) = f(u)



∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = f( ̂k ⋅ ⃗r − vt) = f(u)

⃗∇ Ez =
df
du

⃗∇ u



∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = f( ̂k ⋅ ⃗r − vt) = f(u)

⃗∇ Ez =
df
du

⃗∇ u

⃗∇ Ez =
df
du

(kx ̂x + ky ̂y + kz ̂z)



∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = f( ̂k ⋅ ⃗r − vt) = f(u)

⃗∇ Ez =
df
du

⃗∇ u

⃗∇ Ez = ̂k
df
du



∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = f( ̂k ⋅ ⃗r − vt) = f(u)

⃗∇ Ez = ̂k
df
du



∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = f( ̂k ⋅ ⃗r − vt) = f(u)

⃗∇ Ez = ̂k
df
du

∂Ez

∂t
= − v

df
du



∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = f( ̂k ⋅ ⃗r − vt) = f(u)

⃗∇ Ez = ̂k
df
du

∂Ez

∂t
= − v

df
du

} ̂k2 d2f
∂u2

= v2μ0ϵ0
d2f
du2



∇2 ⃗E = μ0ϵ0
∂2 ⃗E
∂t2

Ez = f( ̂k ⋅ ⃗r − vt) = f(u)

⃗∇ Ez = ̂k
df
du

∂Ez

∂t
= − v

df
du

} ̂k2 d2f
du2

= v2μ0ϵ0
d2f
du2

⇒ v2 =
1

μ0ϵ0



Pratique o que aprendeu       

⃗∇ ⋅ ⃗E = 0

⃗E = ⃗E 0 f( ̂k ⋅ ⃗r − vt)



Pratique o que aprendeu       

̂k ⋅ ⃗E 0
df
du

= 0

⃗E = ⃗E 0 f( ̂k ⋅ ⃗r − vt)



Pratique o que aprendeu       

̂k ⋅ ⃗E 0
df
du

= 0

⃗E = ⃗E 0 f( ̂k ⋅ ⃗r − vt)

⇒ ̂k ⊥ ⃗E 0



Pratique o que aprendeu       

̂k ⋅ ⃗E 0
df
du

= 0

⃗E = ⃗E 0 f( ̂k ⋅ ⃗r − vt)

⇒ ̂k ⊥ ⃗E 0

⃗E = f( ̂k ⋅ ⃗r − ct) ̂z ( ̂k = ̂x)

Exemplo:  na direção , versor  na direção    ⃗E ̂z ̂k ̂x



Pratique o que aprendeu       

̂k ⋅ ⃗E 0
df
du

= 0

⃗E = ⃗E 0 f( ̂k ⋅ ⃗r − vt)

⇒ ̂k ⊥ ⃗E 0

⃗E = f( ̂k ⋅ ⃗r − ct) ̂z

⃗E = f(x − ct) ̂z

Exemplo:  na direção , versor  na direção    ⃗E ̂z ̂k ̂x


